Fort Bend County Tabulation Bid 25-055

Construction of Bellaire Blvd Right Turn Lanes for Fort Bend County Mobility Bond Project No. 20313x

Recommended: Teamwork Construction Services, Inc. \$686,530.42 Funding: Mobility Bonds

Company	Bid Price	Completion Time in
		Calendar Days
Teamwork Construction Services, Inc. Houston, TX	\$686,530.42	120
Wilson Building Services, Inc. Stafford, TX	\$779,105.67	120

					Teamwork Cons	truction Services, Inc.	Wilson Buil	ding Services, Inc.
em No.	Spec. No.	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Total Price	Unit Price	Total in Figures
0.TE DD		FYGAVATION						
1	EPARATION AND 104	Removing Old Concrete (Sidewalk)	SY	196	\$24.00	\$4,704.00	\$30.00	\$5,880.00
2	104	Removing Old Concrete (Curb Ramp)	SY	26	\$24.00	\$624.00	\$30.00	\$780.00
3	104	Removing Old Concrete (Curb Namp)	LF	923	\$4.00	\$3,692.00	\$4.00	\$3,692.00
4	110	Roadway Excavation	CY	2,355	\$34.00	\$80,070.00	\$40.00	\$94,200.00
5	495	Removing Old Structures – Inlets (All Depths)	EA	4	\$645.00	\$2,580.00	\$1,500.00	\$6,000.00
6	500	Remove & Relocate Traffic Signs, Mail Boxes and Roadway Signs	EA	2	\$955.00	\$1,910.00	\$900.00	\$1,800.00
7	540	Remove and Dispose Existing Asphaltic Surface and Base Material (All	SY	82	\$32.00	\$2,624.00	\$50.00	\$4,100.00
		Depths)		-	·		·	
8	562 TxDOT 7211-	Prepare ROW	LS	1	\$5,650.00	\$5,650.00	\$65,000.00	\$65,000.00
9	6106	CASH ALLOWANCE, Remove Ex. Light Stds/Poles	LS	1	\$436.17	\$436.17	\$436.17	\$436.17
IBTOTAL	. SITE PREPARA	FION AND EXCAVATION ITEMS				\$102,290.17		\$181,888.17
PAVEME	ENT							
10	360	Concrete Pavement (8")	SY	689	\$116.00	\$79,924.00	\$95.00	\$65,455.00
11	360	Concrete Pavement (14") Fast Track	SY	161	\$225.00	\$36,225.00	\$150.00	\$24,150.00
12	433	Cement Stabilized Sand (8" thick)	SY	833	\$32.00	\$26,656.00	\$35.00	\$29,155.00
13	530	Concrete Curb and Gutter (Monolithic)	LF	880	\$22.00	\$19,360.00	\$8.00	\$7,040.00
14	530	Reinforced Concrete Sidewalks (4-1/2")	SY	473	\$104.50	\$49,428.50	\$80.00	\$37,840.00
15	530	ADA Ramp - Type 5	EA	2	\$3,950.00	\$7,900.00	\$3,500.00	\$7,000.00
16	530	ADA Ramp - Type 1	EA	1	\$3,650.00	\$3,650.00	\$3,500.00	\$3,500.00
17	530 PAVEMENT ITE	ADA Ramp - Type 21	EA	2	\$3,750.00	\$7,500.00 \$230,643.50	\$4,000.00	\$8,000.00 \$182,140.00
BRIDGE								
18 19	421 TxDOT 450	Structural Concrete (Concrete Collar) Pedestrian Railing (Type A)	CY LF	2 40	\$1,500.00 \$295.00	\$3,000.00 \$11,800.00	\$3,000.00 \$150.00	\$6,000.00 \$6,000.00
18 19						,	,	
18 19 JBTOTA L	TXDOT 450 BRIDGE ITEMS					\$11,800.00	,	\$6,000.00
18 19 JBTOTA L	TXDOT 450 BRIDGE ITEMS	Pedestrian Railing (Type A)				\$11,800.00 \$14,800.00	,	\$6,000.00 \$12,000.00
18 19 JBTOTAL	TxDOT 450 BRIDGE ITEMS SEWER 460	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24")	LF LF	33	\$295.00	\$11,800.00 \$14,800.00 \$8,580.00	\$150.00	\$6,000.00 \$12,000.00 \$9,075.00
18 19 JBTOTAL STORM 20 21	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TXDOT INLET (COMPL)(PCO)(4FT)(NONE)	LF LF EA	33 1	\$295.00 \$260.00 \$4,950.00	\$11,800.00 \$14,800.00 \$8,580.00 \$4,950.00	\$150.00 \$275.00 \$9,000.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00
18 19 JBTOTAL STORM 20 21 22	TxDOT 450 BRIDGE ITEMS SEWER 460	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet	LF LF	33	\$295.00 \$260.00	\$11,800.00 \$14,800.00 \$8,580.00	\$150.00 \$275.00	\$6,000.00 \$12,000.00 \$9,075.00
18 19 JBTOTAL STORM 20 21 22 JBTOTAL	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet	LF LF EA	33 1	\$295.00 \$260.00 \$4,950.00	\$11,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00	\$150.00 \$275.00 \$9,000.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00
18 19 JBTOTAL STORM 20 21 22 JBTOTAL	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet	LF LF EA	33 1	\$295.00 \$260.00 \$4,950.00	\$11,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00	\$150.00 \$275.00 \$9,000.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00
18 19 JBTOTAL STORM 20 21 22 JBTOTAL	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02511	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TXDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction	LF EA EA	33 1 3	\$295.00 \$260.00 \$4,950.00 \$4,795.00	\$11,800.00 \$14,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00 \$27,915.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00
STORM 20 21 22 JBTOTAL WATER 23 24	TXDOT 450 BRIDGE ITEMS SEWER	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TXDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends	LF EA EA LF	33 1 3 3 323	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00	\$11,800.00 \$14,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00 \$43,605.00 \$1,800.00
18 19 JBTOTAL 20 21 22 JBTOTAL WATER 23 24 25	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02511 COH-02506 COH-02506	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TXDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends	LF EA EA LF EA EA	33 1 3 3 323 2 2	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$604.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,850.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$1,208.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$900.00	\$6,000.00 \$12,000.00 \$12,000.00 \$9,000.00 \$22,500.00 \$40,575.00 \$43,605.00 \$1,800.00
18 19 BTOTAL 20 21 22 BTOTAL 23 24 25 26	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02501 COH-02506 COH-02506 COH-02085	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch gate valve and box	LF EA EA EA EA EA EA EA	33 1 3 3 323 2 2 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$604.00 \$6,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$1,208.00 \$6,540.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00
18 19 JBTOTAL 20 21 22 JBTOTAL WATER 23 24 25	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02511 COH-02506 COH-02506	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TXDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends	LF EA EA LF EA EA	33 1 3 3 323 2 2	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$604.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,850.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$1,208.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$900.00	\$6,000.00 \$12,000.00 \$9,007.00 \$9,000.00 \$22,500.00 \$40,575.00 \$43,605.00 \$1,800.00
18 19 JBTOTAL 20 21 22 JBTOTAL WATER 23 24 25 26 27	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02501 COH-02506 COH-02503 COH-02523 COH-02520	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box	LF EA EA EA EA EA EA EA EA	33 1 3 3 323 2 2 1 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,540.00 \$6,540.00 \$12,595.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,850.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$6,540.00 \$6,020.00 \$12,595.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00 \$6,500.00 \$10,000.00	\$6,000.00 \$12,000.00 \$12,000.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$4,500.00 \$6,500.00 \$10,000.00
18 19 JBTOTAL 20 21 22 JBTOTAL 23 24 25 26 27 28	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02501 COH-02506 COH-02506 COH-02503	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box 12-inch diameter wet connection	LF EA EA EA EA EA EA EA EA	33 1 3 3 323 2 2 1 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,540.00 \$6,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$6,540.00 \$6,020.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$900.00 \$4,500.00 \$6,500.00	\$6,000.00 \$12,000.00 \$12,000.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$6,500.00
18 19 19BTOTAL 20 21 22 2BTOTAL 23 24 25 26 27 28 29	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02510 COH-02506 COH-02506 COH-02523 COH-02520 COH-02513	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box 12-inch diameter wet connection	LF EA EA EA EA EA EA EA EA	33 1 3 323 2 1 1 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,540.00 \$6,020.00 \$12,595.00 \$10,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$1,208.00 \$1,208.00 \$6,620.00 \$12,595.00 \$21,080.00 \$6,677.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00 \$6,500.00 \$10,000.00 \$5,500.00	\$6,000.00 \$12,000.00 \$12,000.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$10,000.00 \$11,000.00 \$79,205.00
18 19 19 19 10 10 20 21 22 10 22 10 22 10 23 24 25 26 26 29 10 10 10 10 10 10 10 10 10 10 10 10 10	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02501 COH-02506 COH-02503 COH-02523 COH-02523 COH-02523 WATER LINE LOCATION LINE LOCATION LINE LOCATION LINE LOCATION COH-02503	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 45 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box 12-inch diameter wet connection CATION ITEMS 18-inch SDR 26 Sanitary Sewer	LF LF EA EA EA EA EA EA EA EA EA	33 1 3 3 2 2 1 1 1 1 2	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,020.00 \$12,595.00 \$10,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$6,540.00 \$6,020.00 \$21,080.00 \$6,020.00 \$21,080.00 \$86,677.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$900.00 \$4,500.00 \$6,500.00 \$5,500.00	\$6,000.00 \$12,000.00 \$12,000.00 \$9,000.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$10,000.00 \$11,000.00 \$79,205.00
18 19 19 18 17 19 18 19 18 19 19 18 19 19 19 19 20 21 22 18 19 21 22 18 23 24 25 26 27 28 29 18 18 19 19 19 19 19 19 19 19 19 19 19 19 19	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02511 COH-02506 COH-02506 COH-02523 COH-02523 COH-02513 WATER LINE LO COH-02531 COH-02531 COH-02823	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends 12-inch py 22.5 degree bends 12-inch gate valve and box 12-inch gate valve and box 12-inch diameter gate valve and box 12-inch diameter wet connection ICATION ITEMS 18-inch SDR 26 Sanitary Sewer Precast Concrete Manhole with Cast-In-Place Base	LF EA EA EA EA EA EA EA EA EA	33 1 3 3 2 2 2 1 1 1 2	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,540.00 \$12,595.00 \$10,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$1,208.00 \$1,208.00 \$6,540.00 \$6,020.00 \$12,595.00 \$21,080.00 \$68,677.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00 \$6,500.00 \$10,000.00 \$5,500.00 \$300.00	\$6,000.00 \$12,000.00 \$12,000.00 \$9,000.00 \$9,000.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$1,000.00 \$11,000.00 \$79,205.00
18 19 19 19 10 10 10 11 11 11 11 11 11 11 11 11 11	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02501 COH-02506 COH-02503 COH-02523 COH-02523 COH-02523 WATER LINE LOCATION LINE LOCATION LINE LOCATION LINE LOCATION COH-02503	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 45 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box 12-inch diameter wet connection CATION ITEMS 18-inch SDR 26 Sanitary Sewer	LF LF EA EA EA EA EA EA EA EA EA	33 1 3 3 2 2 1 1 1 1 2	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,020.00 \$12,595.00 \$10,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$6,540.00 \$6,020.00 \$21,080.00 \$6,020.00 \$21,080.00 \$86,677.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$900.00 \$4,500.00 \$6,500.00 \$5,500.00	\$6,000.00 \$12,000.00 \$12,000.00 \$9,000.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$10,000.00 \$11,000.00 \$79,205.00

					Teamwork Construction Services, Inc.		Wilson Building Services, Inc.	
Item No.	Spec. No.	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Total Price	Unit Price	Total in Figures
. I KAFFI	665	Work Zone Pvmt Mkgs - Remov (W) 4" (BRK)	LF	897	\$2.00	\$1.794.00	\$2.00	\$1,794.00
35	665	Work Zone Pymt Mkgs - Remov (W) 4" (BRK) Work Zone Pymt Mkgs - Remov (W) 8" (BRK)	LF	160	\$4.00	\$640.00	\$3.00	\$480.00
36	671	Traffic Control - Barricades, Barriers, Barrels, Cones, and Signing	MO	4	\$1,785.00	\$7,140.00	\$6,000.00	\$24,000.00
37	674	Removing Pavement Striping and Markings - Longitudinal Markings	LF	1,743	\$1.50	\$2,614.50	\$2.00	\$3,486.00
38	674	Removing Pavement Striping and Markings - Words, Arrows, and Symbols	EA	5	\$65.00	\$325.00	\$100.00	\$500.00
39	696	Low Profile Concrete Barrier (Furnish, Install, and Removal)	LF	920	\$80.00	\$73,600.00	\$105.00	\$96,600.00
	L TRAFFIC CONTI			320	ψου.υυ	\$86,113.50	ψ100.00	\$126,860.00
						400,110,00		4.20,000.00
	AND STRIPING							
40	624	Aluminum Signs	EA	2	\$875.00	\$1,750.00	\$850.00	\$1,700.00
41	660	Reflectorized Pavement Markings - Type I (4") (WHITE) (DASHED)	LF	480	\$1.00	\$480.00	\$2.00	\$960.00
42	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	549	\$2.50	\$1,372.50	\$3.00	\$1,647.00
43	660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	LF	551	\$4.00	\$2,204.00	\$7.00	\$3,857.00
44	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	LF	114	\$8.00	\$912.00	\$14.00	\$1,596.00
45	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word "ONLY" -	EA	4	\$235.00	\$940.00	\$325.00	\$1,300.00
46	660	Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow-	EA	4	\$205.00	\$820.00	\$325.00	\$1,300.00
47	663	RIGHT - Furnish & Applied Reflectorized Pavement Markers - Type 1-C	EA	32	\$6.00	\$192.00	\$9.00	\$288.00
	L SIGNING AND S		EA	32	\$0.00	\$8,670.50	φ9.00	\$12,648.00
TRAFFIC							1	
48	TxDOT618-6046	Conduit (PVC) (SCH 80) (2")	LF	50	\$28.00	\$1,400.00	\$20.00	\$1,000.00
49	TxDOT618-6047	Conduit (PVC) (SCH 80) (2") BORE	LF	70	\$36.00	\$2,520.00	\$25.00	\$1,750.00
50	TxDOT618-6053	Conduit (PVC) (SCH 80) (3")	LF	150	\$29.00	\$4,350.00	\$20.00	\$3,000.00
51	TxDOT618-6054	Conduit (PVC) (SCH 80) (3") BORE	LF	170	\$39.00	\$6,630.00	\$30.00	\$5,100.00
52	TxDOT620-6009	Elec Condr (NO.6) Bare	LF	820	\$2.75	\$2,255.00	\$2.75	\$2,255.00
53	TxDOT620-6011	Elec Condr (NO.4) Bare	LF	115	\$3.25	\$373.75	\$3.00	\$345.00
54	TxDOT620-6012	Elec Condr (NO.4) INSULATED	LF	230	\$3.75	\$862.50	\$3.25	\$747.50
55	TxDOT621-6005	Tray Cable (4 CONDR)(12 AWG)	LF	645	\$4.00	\$2,580.00	\$3.00	\$1,935.00
56	TxDOT624-6010	Groundbox TY D (162922) W/ Apron	EA	2	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00
57	TxDOT624-6028	Remove Ground Box	EA	2	\$875.00	\$1,750.00	\$300.00	\$600.00
58	TxDOT628-6001	Relocate Electrical Services	EA	3	\$5,500.00	\$16,500.00	\$5,500.00	\$16,500.00
59	TxDOT682-6018	Pedestrian Signal Head (LED Count Down)	EA	4	\$950.00	\$3,800.00	\$900.00	\$3,600.00
60	TxDOT684-6007	Traffic Signal Cable (TY A) (12 AWG) (2 CONDR)	LF	900	\$3.75	\$3,375.00	\$2.50	\$2,250.00
61	TxDOT684-6009	Traffic Signal Cable (TY A) (12 AWG) (4 CONDR)	LF	900	\$4.00	\$3,600.00	\$3.00	\$2,700.00
62	TxDOT684-6012	Traffic Signal Cable (TY A) (12 AWG) (7 CONDR)	LF	770	\$4.25	\$3,272.50	\$4.00	\$3,080.00
63	TxDOT684-6049	Traffic Signal Cable (TY A) (16 AWG) (3 CONDR)	LF	570	\$3.75	\$2,137.50	\$2.00	\$1,140.00
64	TxDOT687-6001	Pedestal Pole Assembly	EA	2	\$3,550.00	\$7,100.00	\$5,000.00	\$10,000.00
65	TxDOT687-6005	Remove Ped Pole Assembly	EA	2	\$850.00	\$1,700.00	\$750.00	\$1,500.00
66	TxDOT688-6001	Pedestrian Signal Head (Pedestrian Pushbutton Hardware)(Furnish and	EA	4	\$1,600.00	\$6,400.00	\$1,200.00	\$4,800.00
67	TxDOT6306-	VIVIDS Cabling (Relocate)	LF	570	\$6.00	\$3,420.00	\$3.00	\$1,710.00
IRTOTAL	6016 TRAFFIC SIGNA	3, ,			, , , , ,	\$79,026.25	,	\$68,012.50
						*,		,,- · -100
STORM 68		ON PREVENTION	SY	1,229	\$12.00	£14.749.00	\$5.00	\$6 14E 00
	160	Topsoil (4" Depth)			\$12.00	\$14,748.00		\$6,145.00
69	162	Sodding for Erosion Control (Various Widths)	SY	1,229	\$6.50	\$7,988.50	\$8.00	\$9,832.00
70	165 700	Hydro-Mulch Seeding	AC	0.25	\$10,000.00	\$2,500.00	\$8,000.00	\$2,000.00
74	700	NOTICE OF INTENT (NOI)	EA	2	\$325.00	\$650.00	\$450.00	\$900.00
71		1115 1 11 5 1 10 1		_				
71 72 73	719 719	Inlet Protection Barriers (Stage I) Inlet Protection Barriers (Stage II)	EA EA	5 5	\$60.00 \$60.00	\$300.00 \$300.00	\$50.00 \$50.00	\$250.00 \$250.00

2 of 3

BID 25-055 Bid Date: 04/23/2025 for Fort Bend County

					Teamwork Construction Services, Inc.		Wilson Building Services, Inc.	
			Unit of	Estimated	Unit	Total Price	Unit	Total in Figures
Item No.	Spec. No.	Item Description	Measure	Quantity	Price	Total Filce	Price	Total III Figures

	Teamwork Construction Services, Inc.	Wilson Building Services, Inc.
A. SITE PREPARATION AND EXCAVATION	\$102,290.17	\$181,888.17
B. PAVEMENT	\$230,643.50	\$182,140.00
C. BRIDGE	\$14,800.00	\$12,000.00
D. STORM SEWER	\$27,915.00	\$40,575.00
E. WATER LINE LOCATION	\$68,677.00	\$79,205.00
F. SANITARY SEWER RELOCATION ITEMS	\$41,908.00	\$56,400.00
G. TRAFFIC CONTROL	\$86,113.50	\$126,860.00
H. SIGNING AND STRIPING ITEMS	\$8,670.50	\$12,648.00
I. TRAFFIC SIGNAL	\$79,026.25	\$68,012.50
J. STORM WATER POLLUTION PREVENTION	\$26,486.50	\$19,377.00
TOTAL BID PRICE (ITEM A THROUGH ITEM J)	\$686,530.42	\$779,105.67